(XBEMNA=THyT 20225 F

WSS ¥ 50mBEikE S1fk [BF)

1 REA Al &= 48.4
2 KErkE JNA iE 49.9
3 A& IR R 50.0
4 K& IE #C2 50.4
5 Higksr & £ X 52.8
6 [ EH # 53.1

WSS XY 50mEkE S1ik [ZF)

1 INEF ’ #%F 47.3
2 RKigrk EA 1% 49.4
3 RKigrkx pRlR 49.6
4 RKigrk WH XE 50.4
5 REvE R E 94.9

WSS ¥ 50mBikE S2fk [BF)

1 7rfE EF BIAER 476
2 INE 718 B&RE 49.9
3 A& KiE 1838 50.4
4 [ FEH 50.9
5 =] A {EE 56.4

WSS XY 50mEkE S2fk [Z&ZF)

1 = TH Wik 45.9
2 K& thEE B 46.3
3 RKigrk WA HE 53.3
4 K& Rk & 54.4




(XBEMNA=THyT 20225 F

WSS X 50mE kT Sk [&F]

1 K& EH = 49.7
2 IR XAB 1&4% 52.2

WSS XY 50mEkE S4k [BF)

1 7R RIEE R 47.2
2 FrfE HHE BX 48.0
3 NG WE EE 49.1
4 K& FH i 50.8
5 RKigrk HAE Xig 51.1
6 REA B KE 53.0

WSS X 50mE kT S4fk [&F]

JIE iz
1

RErk k& 2R 448

WSS XY 50mEkE S5k [BF)

1 =] \UE fEE 45.0
2 kK& RE Bz 49.3

WSS x>y 50mEkE S5k [ZHF]

1 =] fERKR B 42.2
2 Higks & BH B 44.4
3 NG NP = 48.8
3 Higksr & Wi 5 48.8
5 K& HK BTH 51.1
6 INE AP &M 52.4




(XBEMNA=THyT 20225 F

WSS ¥ 50mBEikE S6fk [BF)

1 INER e ZA 428
2 RErk =AE = 45.7
3 INEF LA TEAEA 48.3

WSS XY 50mEkE S6fk [ZF)

JE L

1 R B RE 449

WSS x5 50mEkE ST#R [BF]

JE L
1 INE wE 2 458

WSS XY 50mEkE ST# [ZF)

JE 4L
1 IR AEF KKE 425

WSS ¥ 50mBEikE S8k [BF)

g £z
1

b
Ht

T & 40.5

WSS XY 50mEkE S8k [Z&ZF)

JE 4L
1 RER ER FAE 41.7




(XBEMNA=THyT 20225 F

WSS ¥ 50mBEikE Sofk [BF)

1 P15 ¥H R 39.6
2 [ 2 EF 43.2
3 [ A BER 43.9
4 INE REAL 1T 46.2

WSS XY 50mEkE SOk [ZF)

1 AER B IRE 40.7
2 INETE TR E£HB 41.7

WSS XY 50mE%E S108k [BF]

JE £z
1 R ZHE K& 43.2

BSHRS X2 50mEkE S10#k [ZF)

JE 4L
1 RKErkE +H BREKF 39.8

WSS XY 50mEkE S12#k [BF]

4]

1 FII=] H KE 35.7




